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nvrtr{ Hs*fr ffiq 3{i{r
Please read each of the following instructions carefully before attempting questions.

Tni ti t !-6-A ffifun fd{ii +1 pq-qT qsq-frEfa6 q} 
1

1. There are ErGHT questions printed both in English & Hindi.
elr'i 3T16 lFT t S 3iffi 3ti f6-er +ii it efi t r

2. Candidate has to attempt FM questions in all either in English or in Hindi.
BqlqeT{ mi A-o qiE er=it * w-< eiffi ql fd-<l ti t} t r

3. Question No. 1is compulsory. Out of the remaining SEVEN questions, FOIIR
are to be attempted.
qrq {iIql 1 3rFffird t r *q qrd yvit ii t qn }y{i * w-r flFri r

4. AII questions carry equal marks. The number of marks carried by a question/
part is indicated against it.
€qt sq=ii fr qqn 3iq. t r r*fi erT/qrq + fiqd sio. Bq-* qFTi Rq .rq t r

5. Writc answcrs in legible handwriting. Each part of the qr-resliun rnust bc
artswered in sequence and in the salne cuntinualion.
gqidi ft.'qrqz i -Trq fui r ern * g-&-fi qH qr,r rf,T .TS sq ii RqT clTr qrRq 

r

6. Graph/illustrations, wherever required, may be drawn/given.
qmufqflEtfi{ur, s6i' qs*$ t, sifu-d 6-qflA{r } 1

7. Attempts of questions shall be counted in sequential order. IJnless struck off,
attempt of a question shall be counted even if attempted partly. Any page

. or portion of the page left biank in answer book must be clearly struck off.
qwi + sflli si rrnr s-qrjsR s1 qRli I sTiRrfi Fq i fqq ,rq qwi t Tar 4) ,{qfqfl qi qTq'fr qR BA el-cT Tfr rTqT A I dq 'rq Eili y€ 3Tsrcil ysa + rrTq q] Wid.q-ra qlFila 

1

8. Re-evaluation/Re-checking of answer book of the candidate is not allowed.
suiTEqi mr s-rr-gker el 5qrFri6-r/g+: uia efr eqqfr rfr t r
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1. Answer the following questions in brief : 5x4=20

frq e-{=ii s-r {ifqrw Tfl{ *fui :

@) Define public goods. How do the effrciency conditions for the provision

of public goods is different from private goods ?

€rffifr e-q3Tt ql qreql qtnaA i qrffi-o q-q:jii d yrqqn d twenr e1

q{Ir( ffi qqsii t frt-€ rm-n t f\rn f ?

(b) Breakup the price effect into income and substitution effect in case of

a Giffen good using appropriate diagram.

Bqgffi Wl + nqh Er-{r q*. fiTfrr{ qq m'l 3r{€n it qiqd eqn 61 3Trq

ejlrq gq qq|q if frq;qq dfqq r

(c) Discuss the major recorrunendations of the Fifteenth Finance Commission.

1s:i t{fl 3rT*q oi gw nsqTR-{ii 6i !-qf olFri r

(d) What do you understand by Multidimensional Poverty Index ? How is

it different from income poverty ?

q-$rmrqi lrfrm qq+-i{ € snq wT qq-fl'.T t ? q-{ rTrq oTrtrfoil qtf-C € fu-s

y-m-n flrq t ?

2. Monopoly is costly for society whereas competition reflects effrciency. Highlight

this statement with the help of'a suitable diagram. What is the available

institutional framework for the promotion of competition in India '/ Critically

evaluate the functions of this framework. 20

q-dTitrdT{ sqfq + fdq q-6'n t q-qf,s- qfrq}F.rdr arioil ql <rTfil t r svgq W-t
s1 qeq t sm q-sr{ q{ rrs-r{r sTfdq r silfd ti sftr*Fim el e-.dT-qT ti qror {iTprTrrd

aiqr qt-qm t ? gs cii + ord an q-€igq q1ffi 
r
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J)

t), Why is the third stage of production considered a stage of non-production ?

I)o you visualize such a stage in any sector in India ? What possible head,*,ays

would you suggest for the improved performance of that sector ? Establish
the relationship between the third stage and costs appropriately. 20

B-flr({ q1 ffif 3{E{erT ql t'i-BilKq e1 er*rp{ *ii eq-flr qrdT t ? qrca *- f6-q

*{ q eil-q {q 3f+tqr q1 M t ? gq *a * q-ffh ej gqTG + ff,q einr e}ag
s-fli 4r gflrq ti Z Bfun dffi Q ffir er*plT qq m.'if,] * qtq * {itiril dt €rTfr""d

q?fuq 
r

What are the major Monetary Policy Instruments avaiiable to the Reserve

Bank of India ? Critically evaluate the effectiveness of monetary policy
initiatives of RBI in controlling inflation in Indian economy in recent
past.

qT.fi-q fis-d A* * qrs B.qerel g@ CR+. frfr Brmlur dH-qH t z aro g sqq
ii qT{-iftq erfq++pn qi stfr ftqqq if ern. q]. 3rTi. 6i Ctr{ *fr + qqnTi si
qqrq{fl-crf,r s-1 3ffi}qqri{fi {-qtqr Etffi r

5. (a) Using suitable diagram explain the short run and long run consumptron

pattern with the help of permanent income hypothesis suggested by
Friedman. 10

3qgffi WI ERr g-tsq-{ Er{T Wri -r$ €nqi e{q qR-s-q{r el vorqrar t 3r-fl-sTdt{

qq Elffir rqqrT * wsq ol qrcil qnlH 
r

4.

(b) "we may experience either high inflation or high unemploynent
never experience the both simultaneously." Explain this statement
the light of the Phillips Curve.

" Eq .Tr ut efqq. gq-R+tfd qt d-* -+frqqrfr q-l 3rj*rq q-{ sdn-fr t qc< mql
$ ff q-T qs' RTsT 3rJsn =rfr s{a 1" ffi-q' qs + €-<si ii gs qen 6i

but

in

10

qrcqr eiffi r
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Derive the aggregate demand curve using IS-LM framework

graphically. 10

IS-LM aii or rqh +-{A Eq sqq qi-r qfi or ffiq qsq o1fir} r

What is crowding out ? If the demand for money is interest inelastic,

crowding out will be more. Explain diagrammatically. 10

sT-rkl 3Trsz Hr t ? q-R ga E1 qirr qM ffiq t ni F-r-JG'T 3rrcz eTRfs.

dqT ? ffir EKr qrcqr elFri r

"Even in the absence of international movements of capital, an economy

faces trade-off between present consumption and future consumption."

In the light of standard trade theory explain the statement using suitable

diagram. 10

tqi + ddffiq qftqrf,{ *1 n{-*{rfr ii S, qdF 3{*q"Rsil e-dqq 3q$rl

sfu *rT-m dqrilq * qtq qqq Eh1 EFeqr ql srq{T s-.fr t I q;rfr- qrqi{ fu-dif,

a q+.rsr ti sqgm Mq7 6Kr {q q.efi q1 R"q.n eTqq r

(b) Intenrational mobility of factor and fi'oc tradc cun bc subsLiLuLcd for cuclr

other. Discuss this statement in reference to Metzier's paradox. 10

3'iildqq gtel{ qfuvft-f,dT qq gfi qrqR \'s-(st qi e.ftr€rTfrd e-r vot t r

iqqei * fuienqru * v<.f C gs q'qq 61 qrcqT otH r

"India failed to tap the benefit of state as well as market forces in its stategy

of development planning both during pre as well as post reforms period." Do

you agree ? Give evidence-based arguments in favour of your answer. 20

" erTr.r, gqR sleT * q-d-d d?r {€-S qrE * +{r $ 3rq-fr fusTs fitq}-fl{ oi q-e-

{€Hr ti {rq * €TeT-qTq qr.{R t *rr flrq B-dri C a{gsc {61" FtT 3Tp1 €-6q-d t ?

qqi TiR * qql ti qrs 3rTr{fud nd E1fui r

\a)o.

(b)

(:a)7.

8.
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